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@us—A / SECTION—A

1. Pefilen aft % sw AR @), (), (@), (¢ F To - Few § @ @
Answer all the following. The word limit for (b), (c), (d), (e) has been indicated in the
parenthesis : 10x5=50
(@) 39 Ru g wiE F @maee R Fafalen wh 6§ @i $ ik Fi) ool #0 e wo
o 1w o w0 e Ry, 9 g % R sfe-a-afte 30 vedt d, va 4 a8
s arios  afiles SRR et /Aiahe @ -

On the outline map of India provided to you, mark the locations of all the
following. Write in your QCA Booklet the significance of these locations,
whether physical/commercial/economic/ecological/environmental/cultural,
in not more than 30 words for each entry : 2x5=10

(i) RHETS
Tharangambadi

(i) A &
Namcha Barwa

(iij) THEA
Narcodam

fiv) Great
Khajjiar

(v) T
Chunchanakatte

(b) F IRV R T wwiEeEe Iam ofteine: 2w F Tived W § HfRa &7 (@mwm 150 we|
)

Why does the pharmaceutical industry concentrate largely in the western
region of the country? (In about 150 words) 10

(c) wma % Hawreia vl & wieen 6 =wen v (eem 150 W<t §)
Explain the pattern of winter rainfall in India. (In about 150 words) 10
(d) “E-Rves Jrm @ TH-wiy e ¥ 3w T e S (@mm 150 vl #)

Discuss the relationship of watershed approach to village level planning. (In
about 150 words) 10

fe) wiEfiw aefa fra v R g9 & FEw # wwfaa w@ R 7 (w150 w=d B)

How does natural vegetation affect the formation of in situ soils? (In about 150
words) 10
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2. (q) WG ¥ E GEEA F simifaE REm ® e v F@ g fEo AR aw $ e |

T R B e i @ R?

Account for the geographical distribution of groundwater resources of India.

How serious is its depletion in recent decades?

(b) vTa ® UaiE @l () IOm F FEIaE 87
Why is the traditional crafts industry in India on the decline?

20

15

() vma d Ff & snyfFem fFy ver vigs wurm Fawl @ wfaa @ @ R, I9ge JEwm

dfga we Hifaw |

Explain how modernization of Indian agriculture is affected by unfavourable

institutional factors with suitable examples.

15

3. (@ F ToORHm @ ‘Hf eww F oI wr i, q FR gw % R faam # swEa |

JhIgt 31'|:v1q|

Distinguish between ‘agricuitural productivity’ and ‘agricultural efficiency’, and

bring out the disparity in regional distribution of agricultural efficiency.

(b) TR H TEEm § W F yg@ Nl F-83 F Fa fifg Ton gegE: 7 491 A FE

TR AR & R0 st

With the help of a map, indicate the principal areas of dryland farming in the

country and account for farmers’ suicides mainly in those areas.

15

() SdeEgen o e % e ¥ TR W g DA & 9reE # qedied S, a9 g

A 1wy B Ehee iRw’ san fi vefea @1 wlge Hifsm

Evaluate the contribution of Communication and Information Technology to
the development of economy and society, and examine the relevance of the

recently launched ‘Digital India’ programme.

15

4. (o) @ d g A wed g anawa (frdi) @ Fam w1 Frw TRy, o s W -y

&5l #) 3N TN F@ g W W@ A @l F IvEReTE 391 gAse

Account for the growing frequency and intensity of floods in India, and suggest
short- and long-term remedial measures indicating the chronically flood-prone

arcas.

(p) oy oiadd umE @ Aeeeis TG i fFE R aaies @ 7

How does climate change affect the process of desertification of India?

(c) ¥wa B ‘wWa wifa i grEt B jeEn b GEwn Hiw)

Discuss the scope of replication of ‘White Revolution’ in India.
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WISs—B / SECTION—B

5. Pefifan wit & I AR (b), (o), (@), () F T - Fes F ¥ R
Answer all the following. The word limit for (b), (c), (d), {e) has been indicated in the
parenthesis : 10x5=50
(@) 3H B MU WHE % EEEtE W e wf f @ Fsfrs i R we Wo wo
e § T ®E W e foRa, 1de Y9 % R sftm-R-afts 30 vl #, v A T w
sitfers faiiriodes / anfelen /ot /qaiawna /eiegios @ ¢

On the outline map of India provided to you, mark the locations of ail the
following. Write in your QCA Booklet the significance of these locations,
whether physical/commercial/economic/ecological/environmental/cultural,
in not more than 30 words for each entry : 2x5=10

(i) Arsheh
Nokrek
(i) TR@AY 9N
Gorakhnath Pecak
(iii) FRhaT) A
Indrakiladri Peak
(iv) TieEm
Polavaram

(v) FETFLEN

Anaimudi

(b) ‘‘wmg-fom fufie fed R % sfem « welifa s k1 we S (Fnm 150 = #)

“Age-sex pyramid is representative of the history of a region.” Explain. (In
about 150 words) 10

(c) ‘'‘TEE-mEEoE R AdE g B sgdEa € 817 fdEEm i (@mm 150 vt o#)

“Mono-functional towns are economically vulnerable.” Discuss. (In about 150
words) 10

(d) e S fe g 3wm 3 giEds fem v 3w s ' w i@l faem | 09 W=
Fha1 ¢ (T 150 T A)

Explain how change in land use can promote eco-development at different
levels in the country. (In about 150 words) 10

(e) =oeh 7§ dH-3ga & WG @ wifEe Tiomm o S Higl (S 150 vieEl T)

Discuss the social and spatial ramifications of increasing longevity. (In about
150 words) 10
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6. (a)

(B)

()

(b}

{c)

8. {a)

(b)

(c)

T wafy A ToEn e F seemw & Wi ¥ e 6 YR % e #
F3-fog w 21 wnfam R fem faea & @ @ wga S
Decentralized planning through the strengthening of the Panchayat system is

the focus of planning in India in recent times. Suggest a blueprint for an
integrated regional development plan.

Teen A % wR &1 96 SAEe F EeE W @ R, Yaaen % foe e’ woadh
wiawn e Hifed

In population planning, the thrust of the Government has been ‘planning the
population’ not ‘plan for the population’. Elaborate.

0 2 & e & & forg P F 9ma oWl & wp (FRR) ¥g Fee & waed fdee
R wha 27 TgfEa el & a9 fEem fiw)

Is planning for a cluster of villages a viable option, when planning for backward
areas of the country? Discuss with suitable examples.

uid % ¥R P § weirs faammett § sd am uliewa we # A @ @ ) s 2
R T %2 3@ v 0 TR yeR APER W g 27

Reduction in regional disparities has been one of the priority goals of national
planning in India. How the proposed new Smart urban centres may contribute
to the process?

wRa 6 T 2@’ it 3 s Q com ¥ e yar @ w R R o 3 A e S &
SR ) fFE TER guTfae W oawdt 87

How has India’s ‘Look East’ policy taken shape in the past two decades and
how it may affect India’s external trade?

uid % A A 9N W % IF 8 oRfym 81 we fifk)

Indian island territories are vulnerable to the sea level rise. Explain.

wra # waiaa g . @ ag-wn e i aween B D Fisg, 70 38 g d 739
@ 743 wigum wmu & ffeand f =men fifvg)

Discuss the concept of multi-level planning as practised in India, and explain
the implications of 73rd and 74th Constitutional Amendments in this respect.

Fon T B wafta T Fo-faae w1 adema T dfv

Give a reasoned account of river water disputes related to the River Krishna.

WA TR ) TiE TRl F g f weifeal ) s wga i)

Qutline the Government of India’s strategies of conservation of the Western
Ghats.

* koW
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